KENSAL 33 Low Canopy Wood

KENSAL

RF-KEN33WLC

M6 NUT

M6 x 10 WASHE

M12 HALF LOCK NU

M12 NUT

if ﬁ/~M6X20 HEX HEAD

M6 x 10 WASHER

M6 x 10 HEX HEAD
M6 x 15 HEX HEAD

PR8996-1




KENSAL 33 Low Canopy Wood - Parts List

KENSAL

Balloon Part Number Description Drawing Weight Offered as
(Kg) spare part
01 SS14 5" FLUE COLLAR MEC7025 1.3 v
02 SS13 5" FLUE BLANK MEC7026 0.96 v
03 SM15 SECONDARY AIR COVER ME7027 0.012 v
04 S5.24CE FIRE BRICK CE7124 3.6 v
05 DATA PLATE MOUNT ME500717 0.08
06 $5.25 LOG RETAINER CA7065 1.8 v
07 4953 CHAMBER ROPE 10 x 2 x 880 SELF ADHESVIE ROPE - 4953 CE7481 0.01 v
08 K5.27 AIR DUCT CA7239 6.1 v
09 SM18 HINGE BLOCK STUD FA7000 0.03 v
10 SM10 HINGE BLOCK MEC7001 0.06 v
11 RF.20 HINGE PIN @6x50LG HINGE-PIN 6x50 0.01 v
12 KEN33DR DOOR ASSY. MEC7754 9 v
13 SM19 M6 x 70 COACHBOLT MO0670CBLT 0.02 v
14 SS30 SECONDARY AIR CONTROL MEC7024 0.6 v
15 4953 AIRWASH ROPE 10 x 2 X 710 LG SELF ADHESIVE ROPE - (4953) CE7482 0.1 v
16 S5.11 SECONDARY AIR DUCT MEC7083 2.1 v
17 S5.12 SECONDARY AIR DEFLECTOR RA7240 1.6 v
18 S5.26 BAFFLE RA7239 6 v
19 RF-KEN33WLC CANOPY CARCASS MEC7770 43




